—— A
N = 0] &F AF S & AN A
20148 &= 20 A LEHSH =2
2M: &2
HE: Mol
R T2 AE K2l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
c 20 17,822,166 22,341,935 AN4,519,769
2 770,000
&< 150,000
Al 16,902, 166
A S0 R 2,182,191 2,359,531 A 177,340
TEZANE X2 2,182,191 2,359,531 A 177,340
2 ,8ots AXxl &2 1,848,741 1,776,656 72,085
201 et d| 1,454,153 1,344,668 109,485
01 AF2 2t 2| bl 23,497 23,497 0
O1 grsgy) 20,857
PLESOtR - BOS OIEEA 248
61,000 *337 M 2~ 20,557
DAH HESAE 100,000& *3& 300
O6 &x= 2,640
DIIREE 24ARAAAAE AIEEH X2
220,000 x12& 2,640
02 2224 H| 1,430,656 1,321,171 109,485
O1 222=2 % HA 1,402,656
DIRS HMIQ2(ESAH)
(5,970 *2,500kW+87 .50 *550, 000kWh) =1 . 1 860,255
37+12&
DHEOE HIIL= 536,971
O 288w otS 35.603 x329S 288w 12& 40,479
O 173w otE 35.60& 3,900 *173w*12& 288,232
O 115wEStsS 35.60& *3,500S 115w~ 12& 171,948
O 8owE S 35.602 x1,000= ~85w+ 12! 36,312
DMESRAISKElE SUHES AIE=
80,000 =30 ~12& 2,880
>EEI MAZU3(20H) 2,400,000 =14l 2,400
> &EJ|etA 22| & 3l Hl 150,000 14 150
O4 XtFH ey 28,000
DEEX KFU 1,500,000 x12& 18,000
>EAX 42l 5,000,000& =2CH 10,000
206 M = dl 137,500 139,900 AN 2,400
01 X2 H| 137,500 139,900 A 2,400
OJiz - B8ots BT M 50,000& x1,000H 50,000
OJI2 - Bets HE)| 100, 000 4704 47,000
OZBMEYE DNosad I /otED 65,000& 600 39,000
OFINILH 2F(LEEX) 50,000& *30= 1,500
207 I | 15,000 0 15,000
02 & AHJH Y| 15,000 0 15,000




5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
ONZEQtS M AL & ZE|AAE 2= A
A(BINHEEY) 1,250,000 128 15,000
401 Al HIZ 2018 242,088 292,088 A50,000
01 A& HI 240,000 290,000 A 50,000
OJ)z , 82ets a4 140,000
DOMEHU(RYEXN) BotsS &R
1,000,000 * 1408 140,000
O}z - 2os KRAUL 1,000,000& =100 100,000
03 Al S THHI 2,088 2,088 0
OA& S HHI 290,000,000 *0.72/100 2,088
TZANEE A2 333,450 582,875 A 249,425
201 Let2d] 10,470 10,470 0
01 At 22l 1,700 1,700 0
O1 get=ZHl 1,700
DMSOIRAHe AR (Y, LX,FL S)
900,000& =14 900
DME0IRel oM HE X B 80,000& =104 800
02 2324l 8,770 8,770 0
O1 223232 2 HA 1,170
DERIISE U HASH2
1,170,000& 14 1,170
O4 Xtgd el 7,600
DAE EU 550,000& 128 6,600
DXt =2l 1,000,000& 14! 1,000
202 Odl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
OZZANEE RANE=> 20,0002 x5 *201«123 2,400
206 M= Hl 32,900 32,640 260
01 MHZ 8l 32,900 32,640 260
gt 13,000& *2,300% 29,900
OQl& =3 (Ston) 30,000& =100m* 3,000
401 Al HIZ 201 8] 287,680 537,365 A 249,685
01 A& HI 284,000 534,000 A 250,000
OEZANEE E= 284,000
DEY ACEY BE(HIHY)
40,000& *2,000m’ 80,000
DEY T2ZAA B (HIHAA)
80,000& *1,000m 80,000
DotMEaA It AX(AHHZAIAY)
72,000& *750m 54,000
DLESCIXQElA 24T AH(SHIHH )
200, 000& *200m 40,000
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
DEOMHABEAANLE BHEL: B+
500, 000& 60 2 30,000
03 A& 2 THHI 3,680 3,365 315
OEZANEZS EF3AM
584,000, 000% «0.63/100 3,680
CRUSY =HE 7,972,671 11,713,515 A 3,740,844
= 770,000
< 150,000
Al 7,052,671
A& FZHI 5,063,040 10,018,560 A 4,955,520
= 770,000
< 150,000
Al 4,143,040
F==IC~ItXIcholy E2H4 503,600 2,994,000 A 2,490,400
401 Al HIZ 201 I 503,600 2,994,000 A 2,490,400
01 A& HI 500,000 2,994,000 A 2,494,000
O =IC~Itxlefol2t =204 (L=1.4km, B=
500,000
20~30m)
> Al & Hl 500,000,000 =14 500,000
03 AlZ R THHI 3,600 0 3,600
OAZ =Rt 500,000, 000& *0.72/100 3,600
SUHR(ZHD~FAH) &. 28 402,880 503,600 A 100,720
401 Al HIZ 2018 402,880 503,600 A 100,720
01 A& HI 400,000 500,000 A 100,000
OSUZE (MO~ AIH) EEZE(L=1.65Km,
400,000
B=35m)
> & XI 04 2 HI 400,000,000 » 14! 400,000
03 A& S THHI 2,880 3,600 AT20
OAIZ 2 HI 400,000,000& *0.72/100 2,880
SEUAQIME~ES2t &2 & 2 F 402,880 402,880 0
401 AIEHI L 2 CHYI 402,880 402,880 0
01 A& HI 400,000 400,000 0
OSEYUAOME~L S T2 I E(L=0.5kn,
B=20m~35m) 400,000
> Al & Hl 400,000,000 =14 400,000
03 A& 2 THHI 2,880 2,880 0
OAZ =TI 400,000,000& *0.72/100 2,880
AMUEZ RAES & THRD) 503,600 402,880 100,720
401 A& HIZ 2018 503,600 402,880 100,720
01 A& HI 500,000 400,000 100,000
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Kl
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oo Ay (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OANUERZ RUE L IHLI(AHL)
500,000,000 » 14! 500,000
03 A& 2 THHI 3,600 2,880 720
OAl& 2| 500,000, 000& *0.72/100 3,600
IS~ IR &2 & I H 1,540,000 2,000,000 A 460,000
= 770,000
Al 770,000
401 A& BIZ 201 8I 1,540,000 2,000,000 A 460,000
= 770,000
Al 770,000
01 A& HI 1,540,000 2,000,000 A 460,000
OJNe1d 22Xt &2 & . 2F
1,540,000, 000 & 1Al 1,540,000
= 770,000
Al 770,000
SO0 S~HASUA(UI-13) T2 MWL S AL 402,880 402,880 0
401 A& BIZ 201 8I 402,880 402,880 0
01 A& HI 400,000 400,000 0
OS20t0IS~HMAEIU2H(H3-13) T2 IHE (L
=0.30km, B=22m~25m) 400,000
> EXI0H 2 dl 400,000,000 =14 400,000
03 Al 20l 2,880 2,880 0
OAIE =2 UHI 400,000,000& *0.72/100 2,880
AFUIOIIE~SZITAROILMEN(S1-12)S2H & 503,600 402,880 100,720
S A
401 Al I 28I 503,600 402,880 100,720
01 A& Hl 500,000 400,000 100,000
OMFUXOIIIE~SZZHOLIIEZ2HE1-12)
S 20 & (L=1.0km, B=20m) 500,000
> EXI0H bl 500,000,000 » 14! 500,000
03 AIE 2 0H I 3,600 2,880 720
OAl & 2| 500,000, 000& *0.72/100 3,600
DALS HEHSZ A 503,600 0 503,600
401 Al BIZ 201 8I 503,600 0 503,600
01 A& HI 500,000 0 500,000
OUTANEE HANEZ(nE 100HL) 500,000
> Al & I 500,000,000 » 14! 500,000
03 A& =2 THHI 3,600 0 3,600
OAl& 2| 500,000,000% *0.72/100 3,600
Nes SLoH THEA 100,000 0 100,000
< 50,000
Al 50,000




2M: E2
HM: TRDEY HE
&2 AlE Fl (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 100,000 0 100,000
< 50,000
Al 50,000
01 A& HI 100,000 0 100,000
ones S2dLotHelZ &S AH(L=0.6km,B=12.0
m) 100,000
> Al & Hl 100,000,000 * 14 100,000
= 50,000
Al 50,000
29 S3txzW AEE2+TA 200,000 0 200,000
< 100,000
Al 100,000
401 AIEHI L 20 200,000 0 200,000
< 100,000
Al 100,000
01 A& HI 200,000 0 200,000
O2Y Sstx=w AT B3 AH(L=1.2km, B=2.0m
) 200,000
> Al & Hl 200,000,000& 14 200,000
< 100,000
Al 100,000
£ FA2e 2,909,631 1,694,955 1,214,676
ANE RXE= 2,506,751 1,694,955 811,796
201 Let249] 77,214 69,395 7,819
01 At 22l 14,486 29,596 A 15,110
O1 Let==ZH| 5,036
DEzFH SR (X 2 35)
2,000,000 » 14! 2,000
PERRX AASY L4
506,000& 6 & X 3,036
O3 2g8=¢ 4,200
DEZ el E AL
70,0003 «15¢1 %43 4,200
O5 =&l 5,250
D= HAZRI
7,000 #1021 «25 2 x3 4 5,250
02 =224l 62,728 39,799 22,929
O1 22232 % HMA 6,400
DRHIEED L ARA ®IRS
200,000& x2=*12& 4,800
DHMAEFED QAIHY AMER3 50,0002 128 600
DASXHEEZ(LESE) 1,000,000 *14] 1,000
O2 ¢ =l 2,600
DH&E&ED L AIS4A tHHl 650,000 x4 & 2,600




M E20
MY CRUSY HE
o2l &2 sz (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3 A& &Hl |Xbl 43,728
>O=J A=l 1,978& +1,0004 1,978
> ol &= 3,000& *504 150
DOl =01 SA2l 50,0003 +8CH x4 & 1,600
D> H&EH |X2eld 40,000,000 * 14! 40,000
O4 Xtgd el 10,000
DIEsFH 10,000, 0002 14 10,000
202 oddl 2,400 2,400 0
01 = LH 4 4l 2,400 2,400 0
OANE RANEs 23 200,000& 128 2,400
206 M= Hl 581,000 466,000 115,000
01 =8l 581,000 466,000 115,000
OsZI MExIE(Zs2Es)
500,000& *1,000= 500,000
OSEI| MEEGE(LEA)
25,000& +3,000m’ 75,000
OSEIl MEXLE(PPOICH) 120 *50,0007H 6,000
305 HHal= s 5,000 5,000 0
01 Hia=s 5,000 5,000 0
OE2RA 2 =otia3 5,000, 000 1Al 5,000
307 21201 A 1,158,117 639,500 518,617
05 RIZt2IEt = 1,158,117 639,500 518,617
OMEXAE HEEZH(15E)
37,000,000& »24CH 888,000
OM&AzAS GEEZH(5E) 23,000,000 =4CH 92,000
OMEXHSE s <2(06W) 23,000,000 »2CH 46,000
OMEXA(HAINIX)S HS<2(06W)
370,000& »4CH «153] 22,200
O8.2 HMEXaE EH
159, 300& »46CH x153] 109,917
401 Al HIZ 2018 352,520 302,160 50,360
01 A& HI 350,000 300,000 50,000
OE2HA& &l 50,000,000& =14 50,000
Ongy SAEH(HLEHY & FAUES)
00,000, 000& =14 300,000
03 Al 2 THHI 2,520 2,160 360
OAIE S HHI 350,000,000% *0.72/100 2,520
405 RHoHF S HI 330,500 210,500 120,000
01 AL EZFH S 330,500 210,500 120,000
ORulFSE= 500,000 =14 500
OReiatml & HMEII 60,000, 000& =3CH 180,000
OuBtll & %583 50,000,000 »3CH 150,000




2M: E2
HM: T2DEY HE
t¢elr &2 g2l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
024 EXNEH 402,880 0 402,880
401 Al HIZ 201 Y] 402,880 0 402,880
01 A& HI 400,000 0 400,000
OllEA EXBA(ANZ) 400,000,000 » 14! 400,000
03 Al S HHI 2,880 0 2,880
OAIZ 2 HHI 400,000,000& *0.72/100 2,880
S AIS 2O X! 556,743 694,957 N 138,214
Jt2FH| 556,743 694,957 A 138,214
tI2=RHEAZNA 556,743 694,957 A 138,214
201 2et2d] 8,823 15,454 26,631
01 At 22l 3,500 8,960 25,460
O1 gt=2Hl 3,500
DEINGHEHE =2 (RS ZEEANE)
1,500,000& 14 1,500
DA SGEZSZ (M 2 58)
2,000,000 =14 2,000
02 =224l 5,323 6,494 A1,
O1 22232 % HMA 3,760
DL AIRA MIIQS(2MHA)
130,000& =123 1,560
DEAMNERGZ (RS ESAME)
600,000 *1JH 2 *23] 1,200
PLERY RES(RUS ESAEF)
1,000,000& 14 1,000
O2 ¢ =l 1,563
DLEFESE AFRA (200 A)
1,356 «20H xBAl 2H+72L 1,563
202 O4dl 4,800 4,800 0
01 = LH 4 Hi 4,800 4,800 0
OJNZEHIYR =N
20,0003 x5 «401 122 4,800
307 21201 A 531,660 595,643 A 63,983
05 BIZHRI & 3 531,660 595,643 A 63,983
QAL CHHE SAHI(A2IYY 2 8H)
81,4433 #2501 %22 x93 36,650
SSEAE 0or2t3Hl 89l
2,070,375&3 %201 123 49,689
OLZHs & L4HXES EHl 9|
2,650,720& 1401123 445,321
401 AIEHI L 201 10,000 20,000 210,000
01 A& Hl 10,000 20,000 A 10,000
SEANE ANEE SX22l 10,000,000 1A 10,000




SH: 2

M DAS2O AL
Chel: Jt=2 F |

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 RHoHE S HI 1,460 2,150 A 690
01 AL EZFH S 1,460 2,150 A 690
OL-FCSAIRA A 200, 000& *2JHK 400
OL&HESAMRA Xt 180,000& 2K 360
OLFHSAISY D 700,000 = 1CH 700
Heaes(E2n) 7,014,096 7,479,300 A 465,204
BEIE(E2M) 7,014,096 7,479,300 A 465,204
Kl 2 XH & & 7,014,096 7,479,300 A 465,204
311 X+ S0l A& & 2,614,096 3,079,300 A 465,204
01 Al -2 - FXNEMNLI =X S0l RS 1,740,000 1,844,000 A 104,000
SRz H4
4,200,000,000& *4/100 168,000
FZUHHRIEZE HE(EXNZH)
6,300,000,000& *4/100 252,000
OSLSHA~EHE 2425628 TS24
9,000,000,000& *4/100 360,000
OZAHEEZZ 1-13S(EHE~&P2H) 24
7,000,000,000& *4/100 280,000
OHAS SEHA ALAE XottE &R
3,000,000, 000& *4/100 120,000
ONSLBER(RA~BE) T2
10,000,000, 000:& *4/100 400,000
OZAHEEZZ 1-13S(EHE~&#P2H) T2
4,000,000,000& *4/100 160,000
02 Sat=8J 2 XS0l AHae 844,096 242,300 601,796
OSASHA~EHE 25425628 TS24
216,096,000& 14 216,096
OZAMHEEZZ 1-13S(EHE~F2) S2HE
294,000,000& 14 294,000
OHHsS SESEA At XotdE AX
334,000,000& 14 334,000
03 SLERXNLS0IAL4&e 30,000 993,000 A 963,000
O=2UHRIE2 A4
1,500,000, 000& *2/100 30,000
601 XtL S A& E 4,400,000 4,400,000 0
01 Al -2 - AN sHL==a 2,600,000 2,600,000 0
O=2zUHRIE2 AL
7,000,000,000% «10/100 700,000
O=2zUHRIEE AL (EXNE L)
9,000,000,000& *10/100 900,000
OSUFA-HE 2562 T2
10,000,000, 000& *x10/100 1,000,000
02 Sat=sland=d=zys 1,500,000 500,000 1,000,000




2M: &2
HM: HRES(E2)
@ BEIE(=21) (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OSASA~EHYE 2425 682F E2E
5,000,000,000& x10/100 500,000
OZANHEZZ 1-133 (A~ R2H) T2
10,000, 000,000 x10/ 100 1,000,000
B ELHEXNL S ASME 300,000 1,300,000 A 1,000,000
O=2EUMRIE=zE AHE
3,000,000,000& x10/100 300,000
HELSIAAH(E2 W) 96,465 94,632 1,833
laEaAY|(E2 1) 52,525 50,848 1,677
ol ALY 52,525 50,848 1,677
101 Q124 H| 52,525 50,848 1,677
01 2 49,898 48,314 1,584
OAZt224% 8,754 1921 x300A| 2+ 49,898
02 JIEtE 2 % 2,627 2,534 93
OAZ2tZ224E 8,7543 x121%300A| 2+ 2,627
Jl2ddl(=2 ) 43,940 43,784 156
Jl2 &4l 43,940 43,784 156
201 et 24,140 23,984 156
01 AP 2t 2] d| 21,860 21,860 0
O1 Ler=24| 13,880
DEANSILE| 3,980,000 x4l 3,980
DYOIMEZH EHEH
300,000 *11JH *33] 9,900
O5 s &H| 7,980
D>Oof2t. 5422 7,000& x190Q1 %53 x12& 7,980
02 B32%H| 2,280 2,124 156
O1 222 2 HA 2,280
DRE= 1,900 x 1004 ~12& 2,280
202 04| 15,600 15,600 0
01 2Ll 15,600 15,600 0
O=2W0ao bl 20,000 x5 %1301 x12& 15,600
203 €2 F=&d| 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
ORI ELEF=8H| 350,000 x12& 4,200




